
 † 



†
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

𝐶KBr ≥ 𝐶KBr =



 



 

 

𝐺′′ > 𝐺′

𝐺′~𝜔1.7 𝐺′′~𝜔1

5 𝑚𝑚 × 150 𝑛𝑚

 

𝐶𝑝𝑖  =  0.3

𝐶KBr.

 

𝐶KBr = 2.15

𝐶𝑝𝑖

 

𝐶KBr = 2.15

𝐶𝑝𝑖 = 0.3

𝐶PSS = 15
𝐶KBr = 2.5 

𝐶PSS

𝑎 =



 

 

𝐶PSS



𝐶PSS = 𝛽𝐴/𝑎 𝛽

𝐶pi =
𝐶KBr =

𝐶pss



∆/ = 6 %

1

2

𝐼(𝑄) = 𝐺 𝑒𝑥𝑝 (
−𝑄2𝑅𝑔

2

3
) 𝑄 ≤ 𝑄1

𝐼(𝑄) =
𝐷

𝑄𝑑
𝑄 ≥ 𝑄1
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

𝐶PSS, SUP
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

× 𝐶PSS, COV
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

𝐶PSS, SUP
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =
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𝐶PSS, COV
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

𝐶PSS, SUP
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

×

𝐶PSS, COV
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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

𝐶PSS, SUP


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𝑪𝐩𝐢 =

𝑪𝐊𝐁𝐫 =

𝐶PSS, SUP
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